
qm= ;+= of]hgfsf] gfd :yfg÷&]ufgf ljlgof]hg /sd ?=
s

1 ;"o{d'vL s[lif tyf kz' ejg lgdf{)f -rfkvf]nf_ j*f g+= 7, vfgLufp 100000.00
2 ko{^g k|j${g -;+:yfut ljsf;, ;]jf k|jfx ;'zf;g_ j*f g+= 7, vfgLufp 100000.00
3 s[lif ;DjGwL ljljw sfo{qmd ;+rfng j*f g+= 7, vfgLufp 100000.00
4 kz'kfng ;DjGwL ljljw sfo{qmd ;+rfng j*f g+= 7, vfgLufp 100000.00
5 o'jf nlIft k|f]T;fxg sfo{qmd j*f g+= 7, vfgLufp 100000.00

hDdf M 500000.00
v

1
ljBfno sf]&f dd{t -ljBfno dd{t, v]ns'b ;fdfu|L vl/b, 
sDkfp)* tf/hfnL ug]{_ j*f g+= 7, vfgLufp 500000.00

2 g]jf/*f“*f ^f]n, jf]̂ ] ^f]n, b}nft'· vf= kf= ;'wf/ of]hgf j*f g+= 7, vfgLufp 100000.00
3 ^f“sLrf}/ vfg]kfgL ^+sL lgdf{)f j*f g+= 7, vfgLufp 100000.00

r)*L:yfg dlGb/ lgdf{)f cw'/f] j*f g+= 7, vfgLufp 100000.00
hDdf M” 800000.00

u
1 bf]af^f]”vfgLufp“”/fgL#f“^ df]^/ af^f] j*f g+= 7, vfgLufp 1000000.00
2 bf]af^f]”b}nft'· df]^/ af^f] j*f g+= 7, vfgLufp 500000.00
3 ljBfno ejg lgdf{)f cfof]hgf j*f g+= 7, vfgLufp 500000.00
4 df]^/ af^f] lgdf{)f tyf df]* ;'wf/ j*f g+= 7, vfgLufp 500000.00
5 7 g+= j*fsf ;Dk")f{ zfvf jf^fx? dd{t ;+ef/ j*f g+= 7, vfgLufp 500000.00
6 g]jf/*f“*f”cfO{vs{ df]^/ af^f] ;'wf/ j*f g+= 7, vfgLufp 100000.00

hDdf M” 3100000.00
#
1
2

hDdf M 0.00
ª
1 cTofjZos cf}hf/÷:jf= rf}sL sfof{no Aoj:yfkg j*f g+= 7, vfgLufp 100000.00
r

1 dlxnf ” Ifdtf ljsf; tyf ;f+:s[lts sfo{qmd j*f g+= 7, vfgLufp 75000.00

2
afnjflnsf ” Ifdtf ljsf;, dlb/f tyf w'd|kfg ;DjGwL 
;r]tgf sfo{qmd j*f g+= 7, vfgLufp 75000.00

3 cfbLjf;L÷hghftL” Aoj;flos afv|fkfng sfo{qmd j*f g+= 7, vfgLufp 37500.00

jftfj/)f tyf ljkb\ Aoj:yfkg If]q tk{m M

;+:yfut ljsf; tyf ;]jf k|jfx / ;'”zf;g If]q tk{m M

cGo -nlIft ju{_ M” 

augf;sfnL ufp“kflnsf
7 g+= j*f sfof{no, vfgLufp“, kfNkf

cf= j= 074÷75 sf nflu j*f e]nfaf^ kfl/t eO{ ufp“ sfo{kflnsfdf k]z ePsf of]hgf÷sfo{qmdx?

cfly{s ljsf; If]q tk{m M

;fdflhs ljsf; If]q tk{m M

k"jf{wf/ ljsf; If]q tk{m M



4 ckf· ” ckf· AolQmsf nflu eQf ljt/)f j*f g+= 7, vfgLufp 37500.00
5 blnt ” Ifdtf ljsf;÷;r]tgf ljsf; sfo{qmd j*f g+= 7, vfgLufp 37500.00
6 h]i&gful/s ”  h]i&gful/s ;Ddfg sfo{qmd j*f g+= 7, vfgLufp 37500.00

hDdf M” 300000.00
ufp“kflnsfdf dfu ug]{ of]hgfx? M

1 7 g+= j*f sfof{no ejg lgdf{)f
2 gfRg]*f“*f ko{^g tyf lkslgs ko{^g kfs{ lgdf{)f
3 vfgLufpm cfwf/e"t ljBfno rf/sf]&] ejg lgdf{)f
4 au}rf”rfkvf]nf”cn}+r]”lr;fvf]nf df]^/ af^f] lgdf{)f
5 sd]/] ;fd'bflos ejg lgdf{)f

s]Gb|df dfu ug]{ of]hgfx?
1 7 g+= j*f sfof{no ejg lgdf{)f
2 vfgLufpm df=lj= cf/=l;=;L 4 sf]&] ejg lgdf{)f
3 b}nft'· tNnf] s'nf] l;+rfO{ of]hgf
4 b]lj:yfg -vf“)fb]jL_ df Eo" ^fj/ lgdf{)f
5 r)*L:yfg dlGb/ lgdf{)f
6 dlxnf ejg lgdf{)f d}bfjf/L
7 dlxnf ejg lgdf{)f cf?vs{



s}lkmot




